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Homework Chapter 5

Q 1. Evaluate the following integral.

[ ¥ b). [ (1—1t).(2+t)dt A i
(a).J#x ().f( —1).(2+ (c).f(x+ +x2+]
(d). (csc t—2et)dt  (e). Jsm X ax (f).J(i/E+ Vx2) dx

J sinx
(9). x.(3/§+ vYx)dx (h).fy+y—3y.dy
J
Q 2. Evaluate the following integral.
4 2 2m
(a). J Vxdx (b). f (x> —3x+ 3)dx (c). f (x —2sinx)dx
1 0 b

(d).f(3—2x)dx (e).f(1+2y)2dy
— 1

(9). lf \/%dt (h). Jf(x)dx, where f(x) =

Q 3. Evaluate the following integral by using substitution method.

(a). f X ax (b). fxz. (x3+5)% dx (c). J cos3x.sinxdx |
V1—4x2? '

(d). f [csc(sinx)]?. cos xdx (e). f sec?(4x+1)dx (). J (L+sint |

(g)-JeS‘”x.cosxdx (h).Je—Sde (i)-J%dx
(x2+1)
-1,
G)-JSGCZQ. tan 26dx (k).Jetanx_ sec? xdx ). f sin
m

Q 4. Evaluate the following integral by using integration by part.

(a). fx. cos xdx (b). fx. In(x)dx (c). f t.etdx
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(d). J e*. cos xdx (e). f cot~ ! xdx (f). J In x.eXdx
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